



Promoting healing

Product Catalog | Wound care



Ritmed® Vital Gauze Premium Non-Woven Sponges

Blended gauze providing excellent absorbency.

- Protects wounds and helps prevent further injury.
- Fits all parts of the body.



Non-sterile

Product Code	Description	Package/Case
A7632	4-ply, 2" x 2"	200/sleeve, 40 sleeves/case, 8000/case
A7633	4-ply, 3" x 3"	200/sleeve, 20 sleeves/case, 4000/case
A7634	4-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case

Sterile

A2338	4-ply, 2" x 2"	2/pouch, 25 pouches/tray, 60 trays/case, 3000/case
A2337	4-ply, 4" x 4"	2/pouch, 25 pouches/tray, 24 trays/case, 1200/case



SafeBasics™ Non-Woven Sponges Non-sterile

Product Code	Description	Package/Case
2101-CH	4-ply, 2" x 2"	200/sleeve, 25 sleeves/case, 5000/case
2103-CH	4-ply, 3" x 3"	200/sleeve, 20 sleeves/case, 4000/case
2100-CH	4-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case



SafeGauze® Premium Non-Woven Sponges with Diamond Aperture™ Non-sterile, Made in USA

Product Code	Description	Package/Case
4522	4-ply, 2" x 2"	200/sleeve, 20 sleeves/case, 4000/case
4544	4-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case


Ritmed® Non-Woven Sponges
 Non-sterile

Product Code	Description	Package/Case
A2101-CH	4-ply, 2" x 2"	200/sleeve, 25 sleeves/case, 5000/case
A2103-CH	4-ply, 3" x 3"	200/sleeve, 20 sleeves/case, 4000/case
A2100-CH	4-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case
A2106-CH	4-ply, 8" x 4"	200/sleeve, 10 sleeves/case, 2000/case
Sterile		
A2240	4-ply, 2" x 2"	2/pouch, 50 pouches/tray, 30 trays/case, 3000/case
A3340	4-ply, 3" x 3"	2/pouch, 50 pouches/tray, 24 trays/case, 2400/case
A4440	4-ply, 4" x 4"	2/pouch, 50 pouches/tray, 12 trays/case, 1200/case
A4440-10	4-ply, 4" x 4"	10/pouch, 100 pouches/case, 1000/case
A8840	4-ply, 8" x 4"	2/pouch, 25 pouches/tray, 20 trays/case, 1000/case
A8840-10	4-ply, 8" x 4"	10/pouch, 100 pouches/case, 1000/case
A9220	6-ply, 2" x 2" (I.V.)	2/pouch, 35 pouches/tray, 20 trays/case, 1400/case
A9220-NP	6-ply, 2" x 2" (I.V. Non Slit)	2/pouch, 35 pouches/tray, 20 trays/case, 1400/case
A9210	6-ply, 4" x 4" (Drain)	2/pouch, 25 pouches/tray, 12 trays/case, 600/case
A9210-NP	6-ply, 4" x 4" (Drain Non Slit)	2/pouch, 25 pouches/tray, 12 trays/case, 600/case


General Purpose Non-Woven Sponges
 Non-sterile

Product Code	Description	Package/Case
2102	4-ply, 2" x 2"	200/sleeve, 20 sleeves/case, 4000/case
2104	4-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case



Ritmed® Premium Cotton Gauze Sponges

100% cotton gauze conveniently packaged.

- Soft and highly absorbent sponges ensure patient comfort.
- Convenient individual peel-open packaging ensures safety.



Non-sterile

Product Code	Description	Package/Case
A3001	8-ply, 2" x 2"	200/sleeve, 25 sleeves/case, 5000/case
A3001-10	8-ply, 2" x 2" (10s)	200/sleeve, 25 sleeves/case, 5000/case
A3003	8-ply, 3" x 3"	200/sleeve, 20 sleeves/case, 4000/case
A3005	8-ply, 4" x 4"	200/sleeve, 20 sleeves/case, 4000/case
A3002	12-ply, 2" x 2"	200/sleeves, 40 sleeves/case, 8000/case
A3002-10	12-ply, 2" x 2" (10s)	200/sleeve, 40 sleeves/case, 8000/case
A3004	12-ply, 3" x 3"	200/sleeve, 20 sleeves/case, 4000/case
A3004-10	12-ply, 3" x 3" (10s)	200/sleeve, 20 sleeves/case, 4000/case
A3006	12-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case
A3010	12-ply, 4" x 4" (Traech)	200/sleeve, 10 sleeves/case, 2000/case
A3009	12-ply, 8" x 4"	200/sleeve, 10 sleeves/case, 2000/case
A3009-10	12-ply, 8" x 4" (10s)	200/sleeve, 10 sleeves/case, 2000/case

Sterile

A2800	8-ply, 2" x 2"	2/pouch, 50 pouches/tray, 30 trays/case, 3000/case
A4800	8-ply, 4" x 4"	2/pouch, 50 pouches/tray, 12 trays/case, 1200/case
A2120	12-ply, 2" x 2"	2/pouch, 50 pouches/tray, 30 trays/case, 3000/case
A3120	12-ply, 3" x 3"	2/pouch, 40 pouches/tray, 30 trays/case, 2400/case
A4412	12-ply, 4" x 4"	1/pouch, 100 pouches/tray, 12 trays/box, 1200/case
A4120	12-ply, 4" x 4"	2/pouch, 25 pouches/tray, 24 trays/case, 1200/case
A4121	12-ply, 4" x 4"	10/pouch, 10 pouches/tray, 12 trays/box, 1200/case
A8120	12-ply, 8" x 4"	2/pouch, 25 pouches/tray, 20 trays/case, 1000/case
A8121	12-ply, 8" x 4"	10/pouch, 10 pouches/tray, 12 trays/box, 1200/case
A8125	12-ply, 8" x 4"	5/pouch, 10 pouches/tray, 20 trays/case, 1000/case
A4161	16-ply, 4" x 4"	10/pouch, 10 pouches/tray, 12 trays/case, 1200/case


Ritmed® All Cotton Gauze Sponges
 Non-sterile

Product Code	Description	Package/Case
310030	12-ply, 4" x 4"	10 sponges/group, 20 groups/bag, 200 sponges/bag, 10 bags/case, 2000 sponges/case
310040	16-ply, 4" x 4"	10 sponges/group, 20 groups/bag, 200 sponges/bag, 10 bags/case, 2000 sponges/case


Ritmed® Cotton Gauze Sponges
 Non-sterile

Product Code	Description	Package/Case
B3001	8-ply, 2" x 2"	200/sleeve, 25 sleeves/case, 5000/case
B3001-2	8-ply, 2" x 2" (2s)	200/sleeve, 25 sleeves/case, 5000/case
B3001-5	8-ply, 2" x 2" (5s)	200/sleeve, 25 sleeves/case, 5000/case
B3003	8-ply, 3" x 3"	200/sleeve, 20 sleeves/case, 4000/case
B3005	8-ply, 4" x 4"	200/sleeve, 20 sleeves/case, 4000/case
B3005-4	8-ply, 4" x 4" (4s)	200/sleeve, 20 sleeves/case, 4000/case
B3005-5	8-ply, 4" x 4" (5s)	200/sleeve, 20 sleeves/case, 4000/case
B3002	12-ply, 2" x 2"	200/sleeve, 40 sleeves/case, 8000/case
B3002-5	12-ply, 2" x 2" (5s)	200/sleeve, 40 sleeves/case, 8000/case
B3004	12-ply, 3" x 3"	200/sleeve, 20 sleeves/case, 4000/case
B3004-5	12-ply, 3" x 3" (5s)	200/sleeve, 20 sleeves/case, 4000/case
B3006	12-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case
B3006-10	12-ply, 4" x 4" (10s)	200/sleeve, 10 sleeves/case, 2000/case
B3010	12-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case
B3009	12-ply, 8" x 4"	200/sleeve, 10 sleeves/case, 2000/case
B3009-5	12-ply, 8" x 4" (5s)	200/sleeve, 10 sleeves/case, 2000/case
B3007-10	16-ply, 4" x 4" (10s)	200/sleeve, 10 sleeves/case, 2000/case

Sterile

B8800	8-ply, 8" x 4"	2/pouch, 25 pouches/tray, 20 trays/case, 1000/case
B2120	12-ply, 2" x 2"	2/pouch, 50 pouches/tray, 30 trays/case, 3000/case
B3312	12-ply, 3" x 3"	1/pouch, 100 pouches/tray, 24 trays/box, 2400/case
B3120	12-ply, 3" x 3"	2/pouch, 40 pouches/tray, 30 trays/case, 2400/case
B4412	12-ply, 4" x 4"	1/pouch, 100 pouches/tray, 12 trays/box, 1200/case
B4120	12-ply, 4" x 4"	2/pouch, 25 pouches/tray, 24 trays/case, 1200/case

Continues on Page 6>



Ritmed® Cotton Gauze Sponges Sterile

Product Code	Description	Package/Case
B4121	12-ply, 4" x 4"	10/pouch, 10 pouches/tray, 12 trays/box, 1200/case
B8120	12-ply, 8" x 4"	2/pouch, 25 pouches/tray, 20 trays/case, 1000/case
B8125	12-ply, 8" x 4"	5/pouch, 10 pouches/tray, 20 trays/case, 1000/case
B8121	12-ply, 8" x 4"	10/pouch, 10 pouches/tray, 10 trays/box, 1000/case
B2800	8-ply, 2" x 2"	2/pouch, 50 pouches/tray, 30 trays/case, 3000/case
B4800	8-ply, 4" x 4"	2/pouch, 50 pouches/tray, 12 trays/case, 1200/case
B4181	8-ply, 4" x 4"	10/pouch, 10 pouches/tray, 12 trays/box, 1200/case



Ritmed® DisTech® Cotton Gauze Sponges Non-sterile

Product Code	Description	Package/Case
D-3001	8-ply, 2" x 2"	200/sleeve, 25 sleeves/case, 5000/case
D-3005	8-ply, 4" x 4"	200/sleeve, 20 sleeves/case, 4000/case
D-3002	12-ply, 2" x 2"	200/sleeve, 40 sleeves/case, 8000/case
D-3006	12-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case

Sterile

D-2800	8-ply, 2" x 2"	2/pouch, 50 pouches/tray, 30 trays/case, 3000/case
D-4800	8-ply, 4" x 4"	2/pouch, 25 pouches/tray, 24 trays/case, 1200/case
D-2212	12-ply, 2" x 2"	1/pouch, 100 pouches/tray, 24 trays/box, 2400/case
D-4412	12-ply, 4" x 4"	1/pouch, 100 pouches/tray, 12 trays/box, 1200/case
D-4120	12-ply, 4" x 4"	2/pouch, 25 pouches/tray, 24 trays/case, 1200/case



SafeGauze® Cotton Premium Non-Woven Sponges with Diamond Aperture™ Non-sterile

Product Code	Description	Package/Case
4822	4-ply, 2" x 2"	200/sleeve, 20 sleeves/case, 4000/case
4844	4-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case



SafeBasics™ All Gauze Cotton Gauze Sponges Non-sterile

Product Code	Description	Package/Case
3001	8-ply, 2" x 2"	200/sleeve, 25 sleeves/case, 5000/case
3005	8-ply, 4" x 4"	200/sleeve, 20 sleeves/case, 4000/case
3006	12-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case



Ritmed® Premium Cotton Gauze Sponges

X-ray detectable premium grade cotton

- Highly absorbent and low-linting.
- Latex free providing optimal patient safety and comfort.



Non-sterile, X-ray Detectable

Product Code	Description	Package/Case
6000	12-ply, 2" x 2"	200/sleeve, 40 sleeves/case, 8000/case
6003	12-ply, 3" x 3"	200/sleeve, 10 sleeves/case, 2000/case
6004	12-ply, 4" x 4"	200/sleeve, 10 sleeves/case, 2000/case
6014	12-ply, 4" x 4", Banded in 10's	200/sleeve, 10 sleeves/case, 2000/case
6008	12-ply, 8" x 4"	200/sleeve, 10 sleeves/case, 2000/case
6009	12-ply, 8" x 4", Banded in 10's	200/sleeve, 10 sleeves/case, 2000/case
6008-5	12-ply, 8" x 4", Indexed 5's	200/sleeve, 10 sleeves/case, 2000/case
6006	16-ply, 4" x 4", Banded in 10's	200/sleeve, 10 sleeves/case, 2000/case
6010	16-ply, 8" x 4"	200/sleeve, 10 sleeves/case, 2000/case
6010-10	16-ply, 8" x 4", Banded in 10's	200/sleeve, 10 sleeves/case, 2000/case

Sterile, X-ray Detectable

6128	6-ply, 8" x 4"	10/pouch, 100 pouches/case, 1000/case
6104	12-ply, 4" x 4"	10/pouch, 100 pouches/case, 1000/case
6108	12-ply, 8" x 4"	10/pouch, 100 pouches/case, 1000/case
6105	16-ply, 4" x 4"	10/pouch, 100 pouches/case, 1000/case



Ritmed® Fluff Sponges Sterile

Product Code	Description	Package/Case
A66750	4-ply, 6" x 6 ¾"	10/pouch, 48 pouches/case, 480/case
A66752	12-ply, 6" x 6 ¾"	2/pouch, 20 pouches/tray, 12 trays/case, 480/case
A66755	12-ply, 6" x 6 ¾"	5/pouch, 120 pouches/case, 600/case

 **Ritmed® Peanut Sponges in Holder**
Sterile, X-ray Detectable

Product Code	Description	Package/Case
74712	Tail, Small, $\frac{3}{8}$ "	5/pouch, 20 pouches/case, 100/case
74712X	No Tail, Small, $\frac{3}{8}$ "	5/pouch, 20 pouches/case, 100/case

 **Ritmed® Tonsil Sponges**
Sterile, X-ray Detectable, Strung on Card

Product Code	Description	Package/Case
78912	Small/Medium, $\frac{7}{8}$ "	5/pouch, 20 pouches/case, 100/case
78914	Medium, 1"	5/pouch, 20 pouches/case, 100/case

 **Ritmed® Neurological Sponges**
Non-sterile, X-ray Detectable, Single Strung

Product Code	Description	Package/Case
55992C	$\frac{1}{2}$ " x $\frac{1}{2}$ "	10/pouch, 10 pouches/case, 100/case
55993C	$\frac{1}{2}$ " x 1"	10/pouch, 10 pouches/case, 100/case
55994C	$\frac{1}{2}$ " x 3"	10/pouch, 10 pouches/case, 100/case
55995C	$\frac{3}{4}$ " x $\frac{3}{4}$ "	10/pouch, 10 pouches/case, 100/case
55996C	1" x 1"	10/pouch, 10 pouches/case, 100/case
55997C	1" x 3"	10/pouch, 10 pouches/case, 100/case

Sterile, X-ray Detectable, Single Strung

85992C	$\frac{1}{2}$ " x $\frac{1}{2}$ "	10/pouch, 10 pouches/case, 100/case
85993C	$\frac{1}{2}$ " x 1"	10/pouch, 10 pouches/case, 100/case
85994C	$\frac{1}{2}$ " x 3"	10/pouch, 10 pouches/case, 100/case
85995C	$\frac{3}{4}$ " x $\frac{3}{4}$ "	10/pouch, 10 pouches/case, 100/case
85996C	1" x 1"	10/pouch, 10 pouches/case, 100/case
85997C	1" x 3"	10/pouch, 10 pouches/case, 100/case
85998C	$\frac{1}{2}$ " x $1\frac{1}{2}$ "	10/pouch, 10 pouches/case, 100/case



Ritmed® Laparotomy Sponges
 Non-sterile, X-ray Detectable, Not Washed, Tape Loop

Product Code	Description	Package/Case
1524	4-ply, 4" x 18", Banded 5's	100/bag, 2/bags/case, 200/case
1504	4-ply, 12" x 12", Banded 5's	100/bag, 2/bags/case, 200/case
1514	4-ply, 18" x 18", Banded 5's	100/bag, 2/bags/case, 200/case

Non-sterile, X-ray Detectable, Pre-washed, Tape Loop

1501	4-ply, 12"x 12", Banded 5's	350/bag, 4 bags/case, 1400/case
1511	4-ply, 18" x 18", Banded 5's	200/bag, 4 bags/case, 800/case
1513	4-ply, 18" x 18", Banded 5's	100/bag, 2/bags/case, 200/case

Sterile, X-ray Detectable, Not Washed, Tape Loop

1526	4-ply, 4" x 18", Banded 5's	25/pouch, 40 pouches/case, 200/case
1506	4-ply, 12" x 12", Banded 5's	25/pouch, 40 pouches/case, 200/case
1516	4-ply, 18" x 18", Banded 5's	25/pouch, 40 pouches/case, 200/case

Sterile, X-ray Detectable, Pre-washed, Tape Loop

1525	4-ply, 4" x 18"	5/pouch, 40 pouches/case, 200/case
1505	4-ply, 12" x 12"	5/pouch, 40 pouches/case, 200/case
1515	4-ply, 18" x 18"	5/pouch, 40 pouches/case, 200/case

Sterile, X-ray Detectable, Pre-washed, No Loop

1505-NL	4-ply, 12" x 12"	5/pouch, 40 pouches/case, 200/case
1515NL	4-ply, 18" x 18"	5/pouch, 40 pouches/case, 200/case



Ritmed® Conforming Bandage

Protecting wounds from further injury and contamination.

- Fits all parts of the body without restricting movement.
- Made of soft, flexible, loosely woven material.

Non-sterile

Product Code	Description	Package/Case
A205	2" x 4.1 yd	12/box, 8 boxes/case, 96/case
A305	3" x 4.1 yd	12/box, 8 boxes/case, 96/case
A405	4" x 4.1 yd	12/box, 8 boxes/case, 96/case
A605	6" x 4.1 yd	6/box, 8 boxes/case, 48/case
A405-IND	Individually Wrapped, 4" x 4.1 yd	Bulk 500/case
A605-IND	Individually Wrapped, 6" x 4.1 yd	Bulk 500/case

Sterile

A206	2" x 4.1 yd	1/pouch, 12 pouches/box, 8 boxes/case, 96/case
A306	3" x 4.1 yd	1/pouch, 12 pouches/box, 8 boxes/case, 96/case
A406	4" x 4.1 yd	1/pouch, 12 pouches/box, 8 boxes/case, 96/case
A606	6" x 4.1 yd	1/pouch, 12 pouches/box, 4 boxes/case, 48/case

Ritmed® DisTech® Conforming Bandages Non-sterile

Product Code	Description	Package/Case
D205	2" x 4.1 yd	12/box, 8 boxes/case, 96/case
D305	3" x 4.1 yd	12/box, 8 boxes/case, 96/case
D405	4" x 4.1 yd	12/box, 8 boxes/case, 96/case
D605	6" x 4.1 yd	6/box, 8 boxes/case, 48/case

Sterile

D206	2" x 4.1 yd	1/pouch, 12 pouches/box, 8 boxes/case, 96/case
D306	3" x 4.1 yd	1/pouch, 12 pouches/box, 8 boxes/case, 96/case
D406	4" x 4.1 yd	1/pouch, 12 pouches/box, 8 boxes/case, 96/case

Product Code	Description		Package/Case
A1061-A	1" x 5 yd, Assorted		72/box
A1061-B	1" x 5 yd, Blue		72/box
A1061-T	1" x 5 yd, Tan		72/box
A2061-A	2" x 5 yd, Assorted		36/box
A2061-B	2" x 5 yd, Blue		36/box
A2061-R	2" x 5 yd, Red		36/box
A2061-T	2" x 5 yd, Tan		36/box
A2061-MIX	2" x 5 yd, Assorted		36/box
A2061-PPA	2" x 5 yd, Assorted		36/box
A3061-A	3" x 5 yd, Assorted		24/box
A3061-T	3" x 5 yd, Tan		24/box
A4061-A	4" x 5 yd, Assorted		18/box
A4061-B	4" x 5 yd, Blue		18/box
A4061-R	4" x 5 yd, Red		18/box
A4061-T	4" x 5 yd, Tan		18/box
A4061-PPA	4" x 5 yd, Assorted		18/box
A6061-A	6" x 5 yd, Assorted		12/box
A6061-T	6" x 5 yd, Tan		12/box

Not Made with Natural Rubber Latex

A1061-TLF	1" x 5 yd, Tan		72/box
A2061-ALF	2" x 5 yd, Assorted		36/box
A2061-TLF	2" x 5 yd, Tan		36/box
A3061-ALF	3" x 5 yd, Assorted		24/box
A3061-TLF	3" x 5 yd, Tan		24/box
A4061-ALF	4" x 5 yd, Assorted		18/box
A4061-TLF	4" x 5 yd, Tan		18/box
A4061-TLFB	4" x 5 yd, Tan		Bulk 100/case
A6061-TLF	6" x 5 yd, Tan		12/box
A6061-TLFB	6" x 5 yd, Tan		Bulk 72/case



Ritmed® Adhesive Bandages Sterile

Product Code	Description	Package/Case
AF0334	Fabric, ¾" x 3", Strip	100/box
AF0310	Fabric, 1" x 3", Strip	100/box
AFF0217	Fabric, Fingertip, 1 ¾" x 2"	100/box
AFK0315	Fabric, Knuckle, 1 ½" x 3"	100/box
AF0402	Jumbo Fabric, 2" x 4", Strip	50/box
AP0402	Jumbo Plastic, 2" x 4", Strip	50/box
AP0334	Plastic, ¾" x 3", Strip	100/box
AP0310	Plastic, 1" x 3", Strip	100/box
AS0334	Sheer, ¾" x 3", Strip	100/box



Ritmed® Tubular Mesh Bandage Rolls Not Made with Natural Rubber Latex

Product Code	Description	Package/Case
51410-LF	25 yd, Size 0, Small Finger/Toe	1 roll/box
51411-LF	25 yd, Size 1, Finger/Toe/Wrist	1 roll/box
51412-LF	25 yd, Size 2, Small Hand/Arm/Leg/Foot	1 roll/box
51413-LF	25 yd, Size 3, Medium Hand/Arm/Leg/Foot	1 roll/box
51414-LF	25 yd, Size 4, Large Hand/Arm/Leg/Foot	1 roll/box
51415-LF	25 yd, Size 5, Small Head/Shoulder/Thigh	1 roll/box
51416-LF	25 yd, Size 6, Large Head/Shoulder/Thigh	1 roll/box
51417-LF	25 yd, Size 7, Small Chest/Back/Axilla	1 roll/box
51418-LF	25 yd, Size 8, Medium Chest/Back/Axilla	1 roll/box
51419-LF	25 yd, Size 9, Large Chest/Back/Axilla	1 roll/box
51440-LF	25 yd, Size 10, X-Large Chest/Back/Axilla	1 roll/box



Ritmed® Elastic Bandage Rolls
Non-sterile, Not Made with Natural Rubber Latex

Product Code	Description	Package/Case
A620	2" x 5 yd	10/box, 5 boxes/case, 50/case
A621	3" x 5 yd	10/box, 5 boxes/case, 50/case
A622	4" x 5 yd	10/box, 5 boxes/case, 50/case
A623	6" x 5 yd	10/box, 5 boxes/case, 50/case

Non-sterile, Not Made with Natural Rubber Latex, Velcro

A632	2" x 5 yd	10/box, 5 boxes/case, 50/case
A633	3" x 5 yd	10/box, 5 boxes/case, 50/case
A634	4" x 5 yd	10/box, 5 boxes/case, 50/case
A636	6" x 5 yd	10/box, 5 boxes/case, 50/case



SafeBasics™ Triangular Bandages
Non-sterile

Product Code	Description	Package/Case
5460	40" x 40" x 56"	1/pouch, 12 pouches/bag, 20bags/case, 240/case



Ritmed® Abdominal Pads

*Provides cushioning and protection without adhering to wound.
[Sterile and non-sterile]*

- Highly absorbent, soft material construction for patient comfort.
- Disperse fluids quickly and evenly and sealed on all 4 sides.



Non-sterile

Product Code	Description	Package/Case
A7159	5" x 9"	576/bag, 1 bag/case, 576/case
A7181	8" x 10"	Bulk, 432/bag, 1 bag/case, 432/case
A7184	8" x 24"	144/bag, 1 bag/case, 144/case
A7182	8" x 20 yd	1 roll/bag, 6 bags/case, 6/case
Sterile		
A7059	5" x 9"	1/pouch, 20 pouches/tray, 20 trays/case, 400/case
A7087	8" x 7 1/2"	1/pouch, 12 pouches/tray, 20 trays/case, 240/case
A7081	8" x 10"	1/pouch, 24 pouches/tray, 15 trays/case, 360/case
A7084	8" x 24"	1/pouch, 10 pouches/tray, 6 trays/case, 60/case
A7011	10" x 12"	1/pouch, 10 pouches/tray, 20 trays/case, 200/case



Ritmed® Non-Adherent Pads
Sterile

Product Code	Description	Package/Case
A1923	2" x 3"	1/pouch, 100 pouches/box, 12 boxes/case, 1200/case
A1934	3" x 4"	1/pouch, 100 pouches/box, 12 boxes/case, 1200/case
A1938	3 1/2" x 8"	1/pouch, 50 pouches/box, 12 boxes/case, 600/case



Ritmed® Disposable Underpad

Product Code	Description	Package/Case
A7200	3-ply, 12" x 17"	Bulk 500/case
A7201	3-ply, 12" x 17"	50/box, 20 boxes/case, 1000/case
A7202	3-ply, 17" x 24"	Bulk 300/case
A7203	3-ply, 17" x 24"	30/box, 10 boxes/case, 300/case



Ritmed® Eye Pad Dressing Non-Woven Sponges Sterile

Product Code	Description	Package/Case
A1110	1 5/8" x 2 5/8"	1/pouch, 50 pouches/tray, 12 trays/case, 600/case
A1111	2 1/8" x 2 5/8"	1/pouch, 50 pouches/tray, 12 trays/case, 600/case



Ritmed® Surgical Tape Non-sterile

Product Code	Description	Package/Case
A5010	Clear, 1" x 10 yd	12/box, 12 boxes/case, 144/case
A5010-15FT	Clear, 1" x 15'	Bulk 144/case
A5020	Clear, 2" x 10 yd	6/box, 12 boxes/case, 72/case
A5105	Paper, 1/2" x 10 yd	24/box, 12 boxes/case, 288/case
A5110	Paper, 1" x 10 yd	12/box, 12 boxes/case, 144/case
A5110-15FT	Paper, 1" x 15'	144/case
A5120	Paper, 2" x 10 yd	6/box, 12 boxes/case, 72/case
A5205	Silk, 1/2" x 10 yd	24/box, 12 boxes/case, 288/case
A5210	Silk, 1" x 10 yd	12/box, 12 boxes/case, 144/case
A5220	Silk, 2" x 10 yd	6/box, 12 boxes/case, 72/case
A5230	Silk, 3" x 10 yd	4/box, 12 boxes/case, 48/case



Ritmed® Vital Gauze Bandage Rolls Non-sterile

Product Code	Description	Package/Case
A6903	2-ply, 3" x 131"	12/bag, 8 bags/case, 96/case
A6904	2-ply, 4" x 131"	12/bag, 8 bags/case, 96/case

Sterile

A6924	2-ply, 4" x 131"	1/pouch, 12 pouches/bag, 8 bags/case, 96/case
-------	------------------	---



Ritmed® Krimped Gauze Rolls Non-sterile

Product Code	Description	Package/Case
A454	6-ply, 4 1/2" x 4.1 yd	100/case

Sterile

A455	Premium, 6-ply, 4 1/2" x 4.1 yd	1/pouch, 100 pouches/case, 100/case
D455	Distech, 6-ply, 4 1/2" x 4.1 yd	1/pouch, 100 pouches/case, 100/case



Ritmed® Transparent Dressing
Sterile

Product Code	Description	Package/Case
A60044	With window and label to write on, 4" x 4 ¾"	1/pouch, 50 pouches/box, 4 boxes/case, 200/case



Ritmed® AssureGauze Packing Gauze
Sterile, X-ray Detectable, Non-strung

Product Code	Description	Package/Case
84442	2" x 36"	1/pouch, 100 pouches/case, 100/case



Ritmed® Kittner Dissector Sponges
Sterile, X-ray Detectable

Product Code	Description	Package/Case
73512	9/16" x 1/4"	5/pouch, 100/case



SafeGauze® HemoStat™ Topical Hemostatic Dressing
Sterile

Product Code	Description	Package/Case
4900-STATC	4-ply, ¾" x ¾"	20/box



Countway System

Product Code	Description	Package/Case
2212A	Round Countway Stand	Wire basket
2212B	Square Countway Stand	Wire basket
2213	5 Pocket Sponge Countway Panel, 29" x 14 ½" Green	50/box, 8 boxes/case, 400/case
2213-BL	5 Pocket Sponge Countway Panel, 29" x 14 ½" Blue	50/box, 8 boxes/case, 400/case
2214	Inner Center Sponge Collecting Bag	50/box, 8 boxes/case, 400/case



Ensuring healthier lives and a safer world for all.

Our responsiveness to the everchanging infection prevention needs and our commitment to reliable, high-quality products helps ensure you have the protection you need, when you need it most.



 **Medical CAN**
October 2025

For more information, please visit medicom.com or contact us at:
cservice@medicom.ca / 1-800-361-2862

AMD Medicom Inc. 2555 Chemin de l'Aviation, Montreal, Quebec
H9P 2Z2 Canada

REF9091 Rev.A
©2025 AMD Medicom Inc. All rights reserved.

AUTHORIZED DISTRIBUTOR

